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B. Sc./B. Ed. (Integrated) Second Year EXAMINATION, 2019
CHEMISTRY - II
(Organic Chemistry)

Time: Three Hours
Maximum Marks: 40

Instructions —
Attempt five questions in all, selecting at least one question from each
unit. The answer of essay type questions should not be more than 400
words and short answer type of questions in not more than 150 words.
All questions carry equal marks.
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UNIT -1/ g&15 —1
Q.1 Explain the following with example - [2+3+3=8]
(i) Hyper conjugation
(i1) Inductive effect
(ii1)) Hydrogen bond
fFrfeRaa @1 IqreRer Afed FHsm8y—
() orfaagE
(i) RfOT® w9
(iii) BTSSISM 3Maer

[2623] Page 1 of 4




Q.2

Q3

OR / 3141
Explain the structure and stability of following reaction intermediate: [2+3+3=8]
(1) Free radical
(i1) Carbene
(i11) Carbocation
forfeRaa arfafhar @ wegadi & SR iR i w wfera fewoh fafay —
(i) g i
(i) ®EH
(iii) Praffe mae

UNIT -1/ %18 —1II
(a) Explain the Erythro and threo isomers with examples. [4+4=28]
TR U9 fraT AATagd $ SSTExvT Afgd FHesy |
(b) Decomposition of Racemic Mixture

fafae fHsor &1 fageE

OR/ 3dr
Write a brief note on the following:

(a) Half-life period of first order reaction
(b) Integration law equation for determining the order of the reaction
(c) Rate law
o1 oR e fewoft ferRag—
(a) UH BIfC JMHATHAT BT 31ef MY BT
(b) AATHAT BT Bife MR BT FHSHAT FIH FHIBIOT
(c) o7 A
UNIT - 111/ @13 — 111
(i) Explain the free radical mechanism of Halogenation of Alkanes with
example. [4+2+2=8]
Uehd & SAlSTHIBRUT ] ol Jeld [shATaAle Pl IETERV Aigd A |
(1) Explain the following -
(a) Baeyer strain theory
(b) Peroxide effect
ferfaRaa &1 Tsmsy —
() TR PT a9 Rigid
(b) WIGATES YT
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Q4

Q.5

OR/ 3141
Explain the following - [3+3+2=8]
(i) Hydroboration oxidation of Alkenes
(i1)) Kolbe method for preparation of Alkane
(i11) Diels — Alder reaction
fr=feRad &1 dH=Isy —
(i) TeHHEl BT BESERMAT — IITRITDHROT
(i) Uedd 999 I died fafer
(iii) Sea—Tesx 3ffAfhar
UNIT -1V/ 5818 -1V
(a) Alkene is less effective than Alkyne. Explain. [4+4=8]
VB B 3elT Voplsd &H fharele & | 9y |
(b) Explain the crystal structure of NaCl and KCI. Determine the number of atoms in
the face-centered cubic lattice.

NaCl T KC1 &7 fohed IRTAT BT ARAT HINTT | Beld Bivad T4 STTeld H BN
P AT BT IR B |

OR / 3qar
Write a brief note on the following: [3+3+2=8]

(a) Electrolysis
(b) Difference between Soap and Detergent
(c) Thixotropic gel

o= w Gferg fewoh forRau—
(a) ﬁgﬁ 3MTE
(b) TG 3R AYATSID H AR

(c) freaeifte Sia

UNIT-V/ 585 —V

(i) Why Aromatic compounds show electrophilic substitution reaction? Explain
mechanism with energy diagram. [4+2+2=8]

WHfed AfTe soide= el UfaRenmud IfAfhard @i i 87 Sofl o gRT 39!
fopanfafsr gH=gy |

(11) Write short notes on following —

(a) Friedel crafts reaction

(b) Birch reduction
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fr=forfRad wr dferg fewoh forRaw —
(a) Wisd — Hruc Atk

(b) I 3=
OR/ 3dr
(1) Explain S~x1 and Sn2 reaction mechanism for Alkyl Halide with example and also
write difference between both mechanisms. [4+2+2=8]

SUYdd TRV bR Yoblgdd  Bellgs| @I Sn1 @ SN2 fharfafsr wHsmsy 9 Qi
forafafert # sior faRag |
(i1)) Write the following reaction —
(a) Sandmeyer reaction
ArsaR STt
(b) Waurtz reaction

g srffehar

[2623] Page 4 of 4



